Therangeof f(x) =1 - 2sin (

A) [-1,3].
B) [0,4].
c) [1.5].
D) [2.6].

E) None of the above.
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Let f(x) = -1{:} . The domain of the function f(x) Is
A) (—m,m)— {0}
B) |—m. ] —[0].

o [-3.5]-10}.
D) (—»m,m) = [(nmn=012,..)
E} [—m, m].
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Given f(x) = %r and g(x) = ;EE.Tha domainof (fog)(x) is:

A) (oo, c0) = (=1).
B) (—o, o) ={-2).
C) (—o,m)- (-8).
D) (—o,m)~(=2,-1).
E) (-~ m)—(-8,-2).
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Which of the following functions is one-to-one (1-1)?

A)  f(x) =In(x)""

B) f(x)=cosx,0.$x£‘21r
0 f(x)=e* +1
D) f(x)=10(Inx)

E) None of the above functions is 1-1
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If f(u) = z, U —J:J_+— and g(x) = 3x* — 2. Then
(fog?) (1) =
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Il Fix) = cyxe” + cge” is an antiderivative of f{x) = xe”™. Then
IEI'I - 5!‘1 =
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Therange of f(x) =3 — 2sin (Iz-l) is:

A)  [~1,3].
B) [0,4].
c) [1,5].
D) [2,6].

E) None of the above.
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~1fx
Let f(x) = sin”! (5 . The domain of the function f(x) is:

sinx

A) (—m, ) —{0].

B) [—m, m]— {0}
o [-3.3]-10)

D) (—m,m) —[(nm:n=01,2,..]
E) [—m, m].

C canner =2 Wesd 4> guwaall



Let f;[cns x f(x) +sinx f'(x)] dx = 3, where

tanb = —V3 (0 < b < ). Then (f (b))’ =
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Therangeof f(x) =2 — 2sin (

A) [-1,3].
B) [0,4].
c) [1,5].
D) [2,6].

E) None of the above.

EEHE.T

;) i

C canner =2 Wesd 4> guwaall



10001010
1010001
10001010

CamScanner 2 Ligo d> guaall



We get the graphof y = 3 4 2**1 hyshﬁtingtim graphof y = 2%

A) 1 unit left and 3 units up.

B) 1 unit left and 3 units down.
C) 1 unit right and 3 units down.
D) 1 unit right and 3 units up.

E) 3 units left and 1 unit up.
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We get the graph of y =—-3 + 2*-1 py shifting the graph of

y=2"

A)
B)
¢}
D)
E)

1 unit left and 3 units up.
1 unit left and 3 units down.

1 unit right and 3 units down.

1 unit right and 3 units up.
3 units left and 1 unit uply
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The following is the graph of f(x).
Then (fof)(1) =
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A (x=1)2-1 i
B) (x—=1)%41

Q) (x+1)2+1

D) (x4 1)? -1

£) x*—1




Given f(x) = % and g(x) = ;:—Z.The domain of (fog)(x) is: T

A) (—oo,m)—{-1}.
B) (—oo,)—{-2}.
C) (—o,)—{-3}.

D) (—o0,0)={-2,-1}.
E) (—o,)—{-3, -2}
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The range of f(x) =3 — 25 (Emﬂ) -

A) [-1,3].
B) [0,4]-
) [1,5].
D) [26].

E) None of the above.
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Given f(x) = %x and g(x) = ii . The domain of (fog)(x) is:
A)  (—o0,00) ={—1).
B) (—o,) {2}
C) (—o,00)—{-7].
D) (—oo,)—{-2, -1}.
E) (—o,00)—{-7,-2].

CamScanner = Ligd d>guwadll



Let f(x) be an odd function and g(x) be any function with
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The range of f(x) = 4 — 2sin

A) [-1,3].

B) [0,4]. .
¢ [1,5].

D) [2,6].

E) None of the above.
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The range of f(x) =1 - 2sin (i :) is:

A) [-1,3].
B) [0,4].
C) [1,5].
D) [2,6].

E) None of the above.
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(—o,00) — {~1J.
(—o0, ) — {—2].
(—o0, 00) — {—3].
(—o0,00) = {-2,-1}.
(—o0, ) — {—3,-2}.
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The range of f(x) 2 Zsm (xz 1)

A) [-1,3].

B) [0,4].

[1,5] .

L [2,6] .
None of the ab ove.




